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Формулы сокращённого 
умножения

(a+b)2=a2+b2+2ab
(a-b)2=a2+b2-2ab
(a-b)(a+b)=a2-b2

(a-b)(a2+ab+b2)=a3-b3

(a+b)(a2-ab+b2)=a3+b3
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Выполните умножение
 

ОТВЕТ:25а2-20ав+4в2

Категория1 за 100
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Ответ:а2+49в2+14ав

Категория1 за 
200
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Ответ: 9у2-16х6

Категория1 за 
300
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Ответ: 8х3-1

Категория1 за 
400
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Ответ: 125m3+27n3

Категория1 за 
500
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Ответ:5х;36а10;60а5

х

Категория2 за 
100
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Ответ:5х2у;40х9у;16х14

Категория2 за 
200
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Ответ: 
7р6;(4/11)q2;(4/11)q2;49p

12

Категория2 за 
300
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Решите уравнение

Ответ: 1 

Категория2 за 
400
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Решите уравнение

Ответ: -2

Категория2 за 
500
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a в шестой степени

Категория3 за 
100
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m в 22-й степени 

Категория3 за 
200
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r в 12-й степени

Категория3 за 
300
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Ответ: 16

Категория3 за 
400
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Ответ: отр.число

Категория3 за 
500
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У в 11-й степени

Категория4 за 
100
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 d 42-й степени

Категория4 за 
200
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Ответ: 7

Категория4 за 
300
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Ответ: a

Категория4 за 
400
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m в 8-й степени

Категория4 за 
500
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b в 84-й степени

Категория5 за 
100
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Ответ: 1024

Категория5 за 
200
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Ответ: 8

Категория5 за 
300
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Ответ: y

Категория5 за 
400
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Ответ: 16

Категория5 за 
500


